
 
夏期WEEKENDテスト① 高校生基礎① 

 

[Ａ] 日本語の意味に合うように，英文の空所に入る語を選んで番号で答えなさい。  

(1)  侍には封建制度によって育まれた政治的指導力の強い伝統があった。 

Samurai had strong traditions of political leadership (   ) by feudalism. 

①dominated ②facilitated ③fostered ④embraced  
 
(2)  横にぴょんぴょん跳ぶ動きは，その種のサルに特有である。 

Hopping sideways (   ) (   ) (   ) that kind of monkey. 

①is faced with ②is peculiar to ③takes sides with ④is opposed to  
 
(3)  その女性は幼少時代に心が傷つき，通院するほどのうつ病に苦しんだ。 

The woman had a (   ) childhood and suffered from clinical depression. 

①sophisticated ②pessimistic ③vulnerable ④traumatic  
 
(4)  エル・ニーニョと異なり，ラ・ニーニャの間は海水面の温度が通常より数度下がる。 

During (   ), unlike El Nino, the sea-surface temperature becomes several degrees below 

normal. 

①wind erosion ②photosynthesis ③La Nina ④fauna and flora  
 
(5)  大気中の核実験は死の灰を降らせることになる。 

Atmospheric testing of nuclear bombs leads to (   ) fallout. 

①carcinogenic ②devastating ③radioactive ④intrinsic  
 
(6)  パーティーで出される食事は一般に食物繊維も栄養もない。 

Party foods generally do not provide fiber or (   ). 

①obesity ②nutrition ③enzyme ④medication  
 
(7)  最初の輸血は 1628 年に記録されているが，多くの人が拒絶反応で死亡した。 

The first blood (   ) were recorded in 1628, but many people died from the severe reactions. 

①interactions ②transfusions ③accompaniments ④distributions  
 
(8)  土壌の最上層である表土は概して肥沃で，有機物に富んでいる。 

(   ), which is the top layer of soil, is generally rich in fertilizers and organic matter. 

①Desrtification ②Disposal ③Malformation ④Topsoil  
 
(9)  砂漠はわれわれが思うほどに不毛ではないことがある。 

Deserts are sometimes less (   ) than one might expect. 

①barren ②radioactive ③carcinogenic ④devastating  
 
(10)  彼のフランス語は少しずつ上達している。 

His French has been improving (   ) (   ) (   ). 

①as a result ②little by little ③in due course ④at a time  
 
(11)  その展示会で彼らの関心を引くようなものは特になかった。 

There was nothing (   ) (   ) about the exhibition that interested them. 

①in progress ②at will ③in particular ④as well  
 
(12)  車が 1 台燃えていると彼は通報した。 

He reported that a car was (   ) (   ). 

①in particular ②on strike ③in earnest ④on fire  
 
(13)  アフリカのジャングルには多様な動植物が存在している。 

A variety of (   ) exist in the African jungle. 

①fossil fuel ②photosynthesis ③malformations ④fauna and flora  
 



(14)  オランダは貿易強国としての卓越した地位を失いつつあった。 

The Dutch Republic was losing its (   ) place as a trading power. 

①preeminent ②glorious ③prestigious ④elaborate  
 
(15)  物理的，化学的，そして生物学的作用によって岩の風化が起こる。 

The (   ) of rock occurs through physical, chemical, and biological processes. 

①desertification ②disintegration ③land degradation ④deforestation  
 
(16)  エル・ニーニョ現象は概して 3 ～ 4 年の周期で太平洋で発生する。 

The (   ) phenomenon typically occurs at three- to four-year intervals in the Pacific Ocean. 

①fauna and flora ②La Nina ③soil erosion ④El Nino  
 
(17)  ときどき寄ってください。 

Drop in on us (   ) (   ) (   ) (   ). 

①from place to place ②from time to time ③the other way around ④for the time being  
  

(18)  あの奇妙な形の岩は風食によって作られたものだ。 

That strange-looking rock is the product of (   ). 

①desertification ②wind erosion ③deforestation ④photosynthesis  
 
(19)  核廃棄物のいい加減な処理が原子力発電所事故の原因となった。 

Careless (   ) of nuclear waste led to the accident at the nuclear power plant. 

①pollutant ②emission ③erosion ④disposal  
 
(20)  大気中の二酸化炭素の濃度が増えているのは，化石燃料を燃やしていることが主な原因で

ある。 

The increasing concentration of CO2 in the atmosphere is due largely to the burning of (   ). 

①disposals ②pollutants ③hazardous wastes ④fossil fuels  
 
(21)  精子の中に父性ミトコンドリアはまったく残存していないようだ。 

No paternal mitochondria in the (   ) seem to persist. 

①ingredient ②plague ③sperm ④fragment  
 
(22)  この組織は性別，年齢，民族に関係なく，どなたでも歓迎します。 

This organization welcomes anybody (   ) (   ) sex, age, or race. 

①as such ②irrespective of ③along with ④as to  
 
(23)  緑色植物は，光合成によって光エネルギーを化学エネルギーに変える。 

Green plants transform light energy into chemical energy by (   ). 

①chlorofluorocarbon ②carbon dioxide ③photosynthesis ④malformation  
 
(24)  通知後数分さえあれば，てんかん患者は特別な薬物治療を受けられる。 

Even a few minutes' notice can allow an epileptic to take special (   ). 

①transfusion ②reflection ③medication ④fragment  
 
(25)  合衆国では，絶滅危惧種保護条例で絶滅の危機にある動植物を保護している。 

In the U.S., the (   ) Act protects endangered animals and plants. 

①Fossil Fuel ②Endangered Species ③Forest Conservation ④Land Degradation  
  

(26)  太平洋での核爆発実験の後，放射能汚染の恐れがあった。 

There was fear of radioactive (   ) after the nuclear explosion test in the Pacific. 

①contamination ②emission ③pollutant ④malformation  
 
(27)  成人に達したら，親から独立すべきだ。 

When you (   ) (   ) (   ), you should be independent of your parents. 

①are tied up ②make ends meet ③grow out of ④come of age  
 



(28)  彼の話は大変説得力があり，誰も異議を唱えなかった。 

His speech was so (   ) that nobody raised an objection. 

①challenging ②persuading ③outstanding ④compelling  
 
(29)  農薬を絶えず使っていると，生態系に深刻な問題が生じる可能性がある。 

Constant use of (   ) can create serious ecological problems. 

①defoliants ②herbicides ③pesticides ④pollutants  
 
(30)  その作家は人生の意義に対して矛盾する感情を露呈している。 

The novelist betrays (   ) towards the meaningfulness of life. 

①exaggeration ②ambivalence ③definition ④segregagion  
 
(31)  地球温暖化のせいで，海面上昇の割合が将来著しく増加するかもしれない。 

The rate in sea-level rise may increase significantly in the future due to (   ). 

①contamination ②global warming ③pollutant ④malformation  
 
(32)  現在，糖尿病を患っている日本人は 700 万人近くいる。 

Currently there are nearly 7 million Japanese with (   ). 

①diabetes ②symptom ③epidemic ④infection  
 
(33)  自然浸食だけでなく，強度の灌漑が土地の劣化を進めているようだ。 

Intensive irrigation, as well as natural erosion, is likely to increase (   ). 

①global warming ②land degradation ③contamination ④emission  
 
(34)  先生は楽器を生徒の自由に使わせるようにした。 

The teacher has (   ) the musical instruments (   ) the students' (   ). 

①put, at, right ②put, at, case ③put, at, chance ④put, at, disposal  
  

(35)  この冷水は底から何トンもの蓄積された堆積物を運ぶ。 

This cold water carries with it tons of (   ) sediment from the floor. 

①accumulated ②reinforced ③swelled ④accelerated  
 
(36)  応募者本人が必要な書類を提出すること。 

Applicants should hand in the required papers (   ) (   ). 

①as well ②in person ③at will ④in progress  
 
(37)  危険な廃棄物は人間の健康や安全，あるいは環境にかなりの害をもたらす可能性がある。 

(   ) can cause great harm to human health and safety or to the environment. 

①Pollutants ②Defoliant ③Malformation ④Hazardous waste  
 
(38)  プランクトンは大型の海洋動物に，間接的には人間にも食物を供給している。 

(   ) provides food for larger sea animals and indirectly for humans. 

①Pesticide ②Photosynthesis ③Pollutant ④Plankton  

(39)  彼は山田さんのことを高く評価しており，彼女を後継者に任命した。 

He (   ) (   ) (   ) (   ) (   ) Ms. Yamada and appointed her as his successor. 

①shared a better opinion of ②had a high opinion of ③learned a better opinion of ④played a 

high opinion of  
  

(40)  その政治家はスキャンダルに関する情報を隠した。 

The politician (   ) (   ) information about the scandal. 

①turned over ②held back ③broke up ④talked back  
 
(41)  この地域では，異常気象が不作を引き起こし，しばしば飢饉を伴ってきた。 

(   ) have caused crop failure, often accompanied by famines in this region. 

①Fossil fuels ②Abnormal weather conditions ③Trade winds ④Hazardous wastes  
  



(42)  美術館の一部は一般には開放されていなかった。 

A part of the museum (   ) not (   ) (   ) the public. 

①was, envious of ②was, guilty of ③was, faced with ④was, open to  
  

(43)  ある程度は他人がどう感じているかわかるものだ。 

You will understand, (   ) (   ) (   ), how others feel. 

①as a whole ②as a result ③little by little ④to some extent  
 
(44)  洗剤や人工肥料，そして殺虫剤は汚染物質となりうる。 

Products such as detergents, artificial fertilizers, and insecticides may become (   ). 

①calamities ②pollutants ③constraints ④chemicals  
 
(45)  科学者たちはその珍しいサルの個体識別をし，個体数を数えた。 

The scientists recognized the rare monkeys and counted the (   ). 

①fossils ②duplicates ③individuals ④criteria  
 
(46)  アメリカ人パイロットたちは枯葉剤，つまり植物を殺す化学物質を農村地帯全域に投下し

た。 

American pilots dropped (   ) -- chemical substances that destroy plant life -- over the 

countryside. 

①hydrogen ②chemicals ③pollutants ④defoliants  
 
(47)  彼の成功により，アルゼンチンのバレエ学校へ入学する男性が急増した。 

His success has caused a surge in male (   ) in Argentina's ballet schools. 

①acquisition ②emergence ③enrollment ④competence  
 
(48)  私たちが驚いたことに，彼は箱の大きさを寸分たがわず言い当てた。 

To our surprise, he guessed the size of the box (   ) (   ) (   ). 

①to an inch ②for a change ③little by little ④hard and fast  
 
(49)  彼はロックを卒業すると，今度はクラシックが好きになった。 

He (   ) (   ) (   ) rock music and took to classical music instead. 

①saw much of ②got hold of ③grew out of ④took sides with  
 
(50)  食べ終えてちょうだい。お皿を洗うんだから。 

(   ) (   ) your plate. I'll do the dishes. 

①Set up ②Finish up ③Break up ④Blow up  
 
(51)  大部分の動物の絶滅は環境の変化が原因だったと考えられている。 

Most (   ) of animals are supposed to have resulted from environmental changes. 

①pollutants ②photosynthesis ③extinctions ④herbicides  
 
(52)  君は柔軟性がなさすぎる。臨機応変にやることを覚えるべきだ。 

You are too rigid; you should learn to (   ) (   ) (   ) (   ). 

①play it by sight ②play it by ear ③run it by sight ④run it by ear  
  

(53)  南アフリカでは，は虫類の中に危急種がいると考えられている。 

In southern Africa, some reptiles are considered (   ) species. 

①vulnerable ②barren ③carcinogenic ④radioactive  
 
(54)  ここだけの話だけれど，ビルとベティは結婚するのよ。 

(   ) (   ) (   ), Bill and Betty are getting married. 

①Against our will ②Just between ourselves ③As a whole ④In all directions  
  

(55)  これらの除草剤はさまざまな形で雑草を攻撃する。 

These (   ) attack the weeds in a variety of ways. 

①herbicides ②pollutants ③chemicals ④abortions  
 



(56)  急いで建てられた家の中には，欠陥住宅と判明したものもあった。 

Some of the houses built (   ) (   ) have turned out to be defective. 

①in progress ②as well ③at will ④in haste  
 
(57)  個体数の増加という長所は，捕食されるという危険に勝ることがもはやなくなった。 

The advantage from increases in size no longer (   ) the risk of being caught and eaten. 

①outweighed ②contradicted ③dismissed ④condemned  
 
(58)  上司に向かって率直に自分の意見を述べるのが難しい従業員もいる。 

It is difficult for some employees to (   ) (   ) against their boss. 

①blow up ②show off ③speak out ④run over  
 
(59)  彼は上司にびくびくしていて，決して口答えしない。 

He is scared of his boss and never (   ) (   ) to him. 

①talks back ②speaks out ③disapproves of ④specializes in  
 
(60)  風と水によって引き起こされる土壌浸食は，多くの植物の生育地域で問題となっている。 

(   ), caused by wind and water, is a problem in many vegetable-growing regions. 

①Forest conservation ②Land degradation ③Soil erosion ④Desertification  
  

(61)  いつになったら本気で仕事に取り組むつもりなのか？ 

When are you going to get down to work (   ) (   )? 

①at will ②in earnest ③in progress ④under construction  
 
(62)  その問題についてうまい解決策がある。 

(   ) (   ) that problem, I have a possible solution. 

①Free from ②Prior to ③Together with ④As to  
 
(63)  昔は毎朝シャワーを浴びる習慣があった。 

I (   ) (   ) (   ) (   ) (   ) taking a shower every morning. 

①had a high opinion of ②was in the opinion of ③was in the habit of ④had a high habit of  
  

(64)  彼らはどうにか彼の薄給の収入内でやりくりした。 

They managed to (   ) (   ) (   ) (   ) on his small income. 

①make both ends better ②make both reasons better ③make both bills better ④make both 

ends meet  
  

(65)  たまには夕飯はイタリア料理にしようか？ 

Shall we have Italian for dinner (   ) (   ) (   )? 

①in due course ②for a change ③as a result ④time after time  
 
(66)  その映画では偏執狂の人造人間でなく，異様な得体の知れない体制があった。 

In the film there were no (   ) androids but a bizarre faceless regime. 

①pessimistic ②pregnant ③paranoid ④prevalent  
 
(67)  ダイオキシンは発癌性のある物質であると考えられている。 

Dioxin is thought to be a (   ) substance. 

①duplicate ②genetic ③carcinogenic ④pregnant  
 
(68)  家まで君を車に乗せていこう。 

I'll (   ) you (   ) (   ) home. 

①drop, a line ②give, a lift ③give, a line ④drop, a ride  
 
(69)  貿易風は航海の間その風に依存していた商業帆船の船乗りたちによって名づけられた。 

The (   ) were named by the crews of commercial sailing ships who depended on them during 

the voyage. 

①fossil fuels ②fauna and flora ③trade winds ④threatened species  
 



(70)  森林保護の経済的価値は時として証明するのが難しい。 

The economic value of (   ) is sometimes difficult to demonstrate. 

①malformation ②hazardous waste ③global warming ④forest conservation  
  

(71)  その日暮らしがどういうものか想像がつかない。 

I can't imagine what it is like to live (   ) (   ) (   ) (   ). 

①from place to place ②the other way around ③for the time being ④from hand to mouth  
  

(72)  喫煙に反対する国会議員により新たなグループが結成されることは，立法活動の第一歩と

なるはずだ。 

The inauguration of the new anti-smoking lawmakers' group should be the starting point for 

(   ) action. 

①legislative ②authoritative ③feudal ④bureaucratic  
 
(73)  ある種の化学物質は胎児の正常な発育を変化させ，奇形を引き起こすことがある。 

Some chemical substances can alter the embryo's normal development and cause (   ). 

①contradictions ②abortions ③calamities ④malformations  
 
(74)  余暇の時間は，肉体的にきつくない趣味が優位を占めていることが多い。 

Leisure time is often dominated by physically (   ) pastimes. 

①unprecedented ②unsolvable ③undemanding ④unexpected  
 
(75)  染色体 DNA と比べ，ミトコンドリア DNA は変化の発生率が高い。 

Compared with the DNA in the (   ), mitochondrial DNA has a high rate of change. 

①symptoms ②sequences ③chromosomes ④ingredients  
 
(76)  子どもたちは清潔で行儀よく，姿は見せてもしゃべってはいけなかった。 

Children were to be clean and (   ), and seen but not heard. 

①outstanding ②well-behaved ③zealous ④glorious  

(77)  彼女は悩み事があると，口を閉ざしてしまいがちである。 

She (   ) (   ) (   ) keep silent when something is bothering her. 

①is frere from ②is open to ③is liable to ④is peculiar to  
 
(78)  かつては，焼き畑農業が森林破壊の主要な原因だと考えられていた。 

(   ) was once believed to be the main cause of deforestation. 

①Infrared radiation ②Fossil fuel ③Slash-and-burn agriculture ④Contamination  
  

(79)  レストランで知らない人と相席するのは好きではない。 

I don't like to (   ) a table (   ) a stranger in a restaurant. 

①release, from ②separate, from ③take, down ④share, with  
 
(80)  多くの人がこの景気で職を得るのに苦労している。 

A lot of people are (   ) (   ) finding employment in this economy. 

①taking turns ②having, difficulty ③in danger ④tied up  
 
(81)  クロロフルオロカーボンの商品名はフロンであり，それはオゾン層に有害な影響を与える。 

(   ), whose trade name is Freon, has a damaging effect on the ozone layer. 

①Herbicide ②Contamination ③Defoliant ④Chlorofluorocarbon  
 
(82)  大気中の二酸化炭素の存在が温室効果を生み出す。 

The presence of (   ) in the atmosphere produces the greenhouse effect. 

①carbon dioxide ②contamination ③defoliant ④malformation  
 
(83)  絶滅の恐れのある種とは近い将来に絶滅する危機に陥る可能性のある種と定義できる。 

(   ) can be defined as any species likely to be endangered in the near future. 

①Photosynthesis ②Desertification ③Forest conservation ④Threatened species  
  



(84)  高齢化社会という問題は大半の先進国に共通している。 

The problem of an aging society (   ) (   ) (   ) most developed nations. 

①is faced with ②is tied up ③gets hold of ④is common to  
 
(85)  砂漠化は気候の変化や人為的影響によって起こる可能性がある。 

(   ) might be caused by climatic changes and human influence. 

①Contamination ②Desertification ③Global warming ④Defoliant  
 
(86)  再利用できる缶と再利用できない缶を分けなければならない。 

You should (   ) recyclable (   ) none recyclable cans. 

①take, down ②separate, from ③put, together ④set, up  
 
(87)  その群の規模から推測できる個体群の増加はグラフの垂直線から解釈できる。 

Population growth expected from that stock size can be interpreted from the (   ). 

①vicinity ②boundary ③vertical ④dimension  
 
(88)  太陽からの赤外線は雲の下に閉じこめられ，気温が上昇する。 

(   ) from the sun is trapped below the clouds and the temperature rises. 

①Contamination ②Herbicide ③Infrared radiation ④Defoliant  
 
(89)  加藤さんの顔は知っていますが，まだ話しかけたことはありません。 

I (   ) Mr. Kato (   ) (   ), but I haven't talked to him yet. 

①learn, by heart ②know, by heart ③know, by sight ④learn, by sight  
  

(90)  その古寺は修復が必要だ。 

The old temple (   ) (   ) (   ) (   ) renovation. 

①is in need of ②is in danger of ③is in honor of ④is in matter of  
  

(91)  ダイオキシンは容易には液体に溶けない。 

Dioxin does not (   ) easily in liquids. 

①dissolve ②enroll ③scatter ④shrink  
 
(92)  外交政策に関する大統領の演説が今夜放送される。 

The president's speech on foreign policy is going (   ) (   ) (   ) tonight. 

①in due course ②on the air ③in all likelihood ④in the air  
 
(93)  そんなめまいのするような高さでも彼らにとっては恐ろしくない。 

Such (   ) heights are not frightening to them. 

①arduous ②dizzy ③nimble ④insidious  
 
(94)  新型の車には排気ガスの放出を著しく削減する排出物質規制装置が備えられている。 

Newer cars have (   ) control devices that significantly reduce the output of exhaust gas. 

①alienation ②emission ③turbulence ④proliferation  
 
(95)  河口付近に堆積した土砂が，洪水を起こすことがある。 

(   ) piled up at the mouth of a river sometimes causes floods. 

①Earth and sand ②Hazardous waste ③Land degradation ④Fauna and flora  
  

(96)  その教授はゲストスピーカーとして引っ張りだこだ。 

The professor is (   ) (   ) as a guest speaker. 

①in haste ②in particular ③in demand ④in person  
 
(97)  彼女は最初は彼が好きになれなかったが，しだいに好きになった。 

She grew fond of him (   ) (   ) although she didn't like him at first. 

①by degrees ②as such ③in person ④in progress  
 



(98)  全体として，今日の日本人は出来合いの食品を多く食べている。 

(   ) (   ) (   ), Japanese people today eat a lot of prepared foods. 

①As a whole ②Time after time ③In no case ④In all directions  
 
(99)  シャンプーが全然ないじゃないか。使い切ったのは誰なんだ？ 

There is no shampoo left. Who has (   ) it (   ) ? 

①break, up ②blew, up ③used，up ④set, up  
 
(100)  アマゾン川流域の森林破壊問題については，さらなる議論が必要だ。 

The issues of (   ) in the Amazon basin require further discussion. 

①global warming ②infrared radiation ③deforestation ④contamination  
   


